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Zwjwutnwbh Zwbpwy bnnipjub wnwlwub pmekh dhengutph hwoyhtt hpulubgynn qunudukph
nhypmu

NMunhpunmb  Upwpwinh dwpgh Bpkquujwih gimquy blnwput

(puwn pynipkwnuyghl Swpuubph qbpunbuswlul puuwlupguul)

Opwughpp

$

Utjubinudp  Uyuipunnh wwhwwinwh swhuubp

pwdht 1 funudp 1 nuu 1 dpughp 51

(puwn pnioknuyhl Swjiubph gnpéuniulpub puuwljupguuly)

Uhewiighl Fudwl Quihdwt Uhunpph | Cugudbup | Lwbwy
ynnp punn Uy putipukph Swpwympynibiitph b alup Uphwynpp ghup Swuubkpp
CPV wphuwnwtipibiph wijuwbnmdbbpp /pupuigu Mmpuiuny/ | /hwg.npud/
quuwlup Juipgp/
quml
1 2 3 4 5 6 7
UNLULR
A ELUYUL MPSNP3LLEL &Y
. 3MUUBL3UYUShL TUrueuULEr
30197622 poinp A-4 /xerox/ PLUZ hun 1900 66.5 35
39263200 gqpuukiywluyhu ghpp /92 phpp/ PLUZ huin 500 1.0 2
30192160 ownphfu ACUL2 hunn 250 2.5 10
30234300 quunupl ujujuewy PLUZ hwwn 100 4.0 40
22811170 upmuubiph pouype PCUZ hwwn 100 2.0 20
2851200 pnpuwwbul §ndqud PLUZ huwn 150 3.0 20
30197233 pnpwyubwl phikpnyg PLUZ hunn 90 2.7 30
30197231 pRpwywbulu duy PLUZ wnith 1000 5.0 5
30197232 ppuywiul wpuquiljup PLUZ hwwn 80 4.0 50
30197232 phpwuywiul wpuquljup/ PLUZ huin 170 3.4 20
gnibwynp/uyjwunhl
30197233 | pppuwywhwl nkqhuwnp /Epljoquljwih / PLUZ hwwn 800 4.0 5
30192137 dwwnpun /hwuwpuly/ PLUZ hwwn 70 0.7 10
30197100 | lwphsh ykinwnuupk Jugbp /Adhohty/ PCUZ unith 100 2.0 20
30192128 qphs /qughluynp/ PLUZ hwwn’ 150 7.5 50
35821400 npny ALUL hun 2500 5.0 2
30141210 hwoyhs dbkpklw PLUZ huwn 2200 2.2 1
24911200 unupbd /kdnyjuhuy/ PLUZ huwwn 200 2.0 10
30192730 puthwighly uysnil fugd PLUZ huin 100 R 20




22811120 npudwplnuyhl kiph opgkp PLUZ huin 5 0,5 100
22811120 npwidwplnuiht Ununph opgkp PLUZ hwn 5 6.0 1200
30197332 YJuiphs/uhohti/ PLUZ hwwn 1750 35 2
30234640 d1kp hhonymipynit 16 qp PLCUZ hun 5800 5.8 1
30192700 Fpudwplnuiht ghpp PCUZ hunn 3000 3.0 1

30199231 twdwhh spup dhohtt swihuh PLUZ huin 20 1.0 50
30199232 Opuwp, Uks A4 $oplwnp hundwp PLUZ huwiwn 50 1.5 30
30192710 Unubidwdwinhuin gpuubiyuljught PCUZ hun 180 0.9 <
30192720 Swlighy /dwplp/ PCUZ hwin 200 1.0 5
30192135 Fpuwdhnk vhonl dwnnhwnh hwdwp PLUZ hunn 80 0.4 5
30192136 Uwwnhwn qpudphunk PLUZ hunn 250 0.750 3
uhgniyn/dkuwmbhjuljwiy/

30192700 Lwiinti ninhy, gdbwpwdwimdubpny PLUZ huwn 70 0.350 5
30192100 [YEinht hwuwpul dhoht suithuh PLUZ huwn 100 0.6 6
30192760 Uphs PLUZ hunn 250 1.0 4
22800000 nipbpbpp PCUZ hun 200 1.0 5
30192780 b PLUZ hwwn 400 3.2 8

E[]I}un[hhn 150.0

Spwhuwynpuught iympkp

09132200 PLuqhl / nkqnijyup/ PLUZ 1hwp 315 148,050 470
09132200 Phughli / nkqnijyup/ RLUZ 1hwp 360 498.6 1385
09132200 PEughli / nkgniyyup/ PRUZ 1hwnp el 153.350 e
09121700 * Puwlwh quq POUZ Judd 165 400.0 2424

Ehr}m]_[];hn 1200.0

Utipktutikph owpdhsbitph dwubp b
wuwpuqukp 300,0
Uypwtip

50111300 Ulwjwgny 215/65 R15 H202 £0UZ hunn 22000 88,0 4
50111300 UliJunnn 215/55 R16 S2000 PCUZ hunn 26000 104,0 4

punudkup PCUZ npud = 192.000 +

Uypwip
45461100 Chtwlymp hwdwjipuy bnwpwith - e x 65,200
plpwghl tnpnguuit hudwp

45461100 Ludy PLUZ hun 300 1,2 4
45461100 Uygunndwwn whounnhy PLUZ hunn 7500 15,0 2
45461100 Mnudk hwnnpyujwp RLUZ ubwp 150 0,150 :
39530000 Zunnuljh gnpg PLUZ hun 2500 2.5 1
44511110 Pwh phuljuyht PLUZ hunn 850 17 2
44511110 Fuihh thupnk poiuly PLUZ huin 400 1.2 3
44511110 Puwh wihiughts PLUZ huitn 3800 7.6 2
44511170 ®nglu PLULZ huwn 1200 1:2 1
34911120 Phntiwuuyuy PLUZ hun 12000 12.0 1
31500000 Lundy Eyntind PLUZ huwn 1000 5.0 5
39241200 2toph Ukju.uyglgnpdulub dpun PCUZ huin 5500 5.5 1
34921440 Ul o) /wnpurdwty/ PLUZ hun 1300 3.9 3
45461100 Yguidwu 32*1 PCUZ hun 550,01 1100,02 2
45461100 Dhjunp opp 601 PLULZ hunn 4500 4,5 1
45461100 Ygudwu 25*25 PLUZ huin 700 0,700 1
45461100 Ubyymt dbnwunuljwuh PLUZ hwwn 1099,99 1099,99 1
45461100 Lundy 63 PLULZ hunn . 949,99 949,99 1
45461100 Jhtunpy 1/2 PCUZ huitn 1200 1,2 1
45461100 Snpuiswth 1/2 PLUZ huin 6500 6,5 1
45461100 $hpip oph 1/2 PLUZ hunn 1800 18 1
44111200 8kdkuwn/wynpnjuiny/ U-400 PLUZ wnnbbm 60000 60.0 1




’ punuukip 200.0 -
Stunbuwljuits b uwhhghkuhy Wymptp
39812600 Upunwhwithy dwppnn dhong PLUZ hwwn 400 1.6 4
398312800 Uwwlh (Jubugne hkgoily 1) PLUZ hwwn 1800 1.8 1
39812100 Zunnwly dwppnn hkgmy 23 PLUZ huwn 2500 2.5 1
39812410 Yuhnijph thuyjging dvhong 0.5 1 PLUZ hun 2600 2.6 1
39812600 Uwywuph jJuguwi htnnil PLUZ hun 500 2.0 4
39811300 Znmnwigkpény Uvhong PLUZ hwwn 500 1.0 2
39831272 Uyniig wihuk [Juibwyne PLUZ huin 100 0.5 5
39800000 Zunnuly dwppbint gnpéyjwdp RCUZ hunn 600 1.8 3
/aynjhubpughty/
39221470 Uyl PCUZ hunn 900 1.8 2
39221140 Unip&h puduljukp PCUZ wnup 5000 5.0 1
39221140 Ekjh pudwljukp PLUZ wnuf 7000 7.0 1
39513200 Udknnghlukp /kplokpw/ PCUZ hunn 240 2.4 10
Cunuukip 30.0
ouNUSNRE3NPL
Uwubughnulub Swnwynmpinib PLUZ pud -- 56,505 --
79131300 Ejkywnpnbught wnnpugpnipjub £LUZ npud hwwn 3.0 1
uyywuwpldwb Jdwp
76130000 Ququuuyupdwt hudwlupgh PCUZ npud - 13,775 -
uywuwpldwb Jdwp
22211100 << Upunulupg>>pkpph PLUZ hwin 48 6.720 140
puwdwinpyugpnipinil
72200000 | h/h b ¢/h wjinndunnwugjud hudwljwupgh PLUZ npud 33400 33.4 1
uyyuuwpljdwb J&wp
72200000 nbnjunjuiuliui hwdwlwupgh PLUZ gpud 10000 120.0 12
uywuwplhdwub J&wp
32412120 | huunbkplbn juuh swpwnipjub wpdbp PLUZ npud 11000 132.0 12
32412120 | Gupuwnhpnyph /nukih/ vywuwpljiub PLUZ npud 12000 12.0 1
Y&wp
64211130 Poouhtt hpwunuwfuuh PCUZ npud = 130.0 3
Swowjnipnih
79100000 hpwyjupwbwlub Swouynipjmb PLUZ npud = 150.0 -
09121700 quqh Jupd PCUZ fud 139 400.0 2878
09000000 k). Eukpghuyh quipd PLUZ ydw/d 45 600.0 13333
71631120 swounquijwb w/d nkhequbnd PLUZ npud e 25.0 2
90720000 Phuyuhywbwliwh wwpwnwnhp - -—- — 50.0 -
J4wpikp
66514100 | swpwynquijui w/d wywhnjwgpur]dwp PLUZ npud i 60.0 2
22211100 phpph pudwinpyugpnipntl PLUZ npud = 89.0 2
50311120 hwdwlwupgswiht uwpp PCUZ npud = 100.0 -
uwppuynpoidlibph uywuwplnud
punudkip - 100.0 -
Ubphtutikph ptipwghl tnpngnud b
nkhLuyyuuwplmd 89,0
Ownuynipjnil
42121530 | Ntbnhub wwwlnt dwpphsh nbqunpnud 11,0
pungudkiup 200.0
Uwpuitip 200,0
42941160 EhEpUnunuin PCUZ hun 4000 4,0 1
34330000 Uybsw PLUZ nuy 2000 2,0 1
34330000 Spnu uuynunh PLUZ huwn 2300 2,3 1
34330000 TNpwljjunlu Ypholh PLUZ huwn 1500 1,5 1
34330000 Npuljjunu ubsh PLUZ Ynuy 1000 1,0 1
-------- L L pate At oNT1 Y huin 500 0,5 1




34330000

Nuwnpniylju PLUZ hun 1000 1,0 1
34330000 Suqh juwyui PCUZ hunn 500 0,5 1
30237111 Uwpuljng PLUZ hwwn 34000 34,0 1
34320000 Mhunw PLUZ hwwn 20000 20,0 1
Yhuly PCULZ hunn 10000 10,0 1 '
34320000 Jhdhdun PLUZ hwwn 5000 5,0 1
34320000 Tuwsnily POUL hun 3700 74 2
34320000 Nunkulin PLUZ huun 3500 35 1
42120000 Nndy oph PLUZ hwn 11000 11,0 1
34320000 Bnul Zmpbhﬂl PLUZ hwuwn 10000 10,0 1
34320000 Shjuap jninh PCUZ huwn 1500 1,5 1
34320000 anLzhmhl PLUZ hun 12000 12,0 1
34320000 Lun[ul %ujnh P2 hwuwn 1700 3.4 2
pluguudkip 130,6
Qumud shuinhuwgnn dwijuu
99000000 wphrunnujupd = npud 15900.0
99000000 Uohmunujuipd /yjupgluunpnid/ = npud 1050.0
Uyputip
30237100 Zunfwljunghs FOUZ pnd 4410 .
30237100 INTEL DUAL CORE G4400 PLCUZ npud 145000 145.0 1
wpngkunpnpny hundwlhwpghy
42121190 Oph wyndy PLUZ npud 104000 104.0 1
30232100 ; Swhy PCUZ npud 55000 110.0 2
plunuukip - 800.0 -
Usliwwnuiip
45111440 Zudwyipuynwpuith hwpuljhg Qz npud == 2422.8
wnwpwédph pupkljupgnid b pug
wuwnoqudph v hjuyunnid
punudkiup nppud 24228
71241200 Luhmugsu-hknugmnuljut PCUZ npud = 400.0
wohumnwlipiip
punuukip npud 24911.4
Opwgph wijuinuip Lwjuunupngujub jppompinia
purdhli 9 junudp 01 nuiu 01 Spwghp 51
Qunud shwinhuwgnn wy) dwhukp
99000000 pupwghl] gpudwsunphtip Z0UY-hu npud 8927.0
; plugudkbp npwd 8927.0
Opwgph winjwinulp Chnhwinp pinyph wy) Swn-u
pudhtt 1 junwdp 3 quu 3 Spwghp 51
Ownuwjnipjnil
50310000 Cughwbnup plnyph wy Sunumpnil 791.578
09120000 Zuwljuplpinugh juywbkph PLUZ fud 750 70.0 93.33
ququijhgpurynpmd
90670000 Uwiiljuuyuipinkgh PLUZ npud 40000 40,0 -
whinwhwinul/gEkpwnhquighu/
90710000 Nwpunwnhp Jdwpikp PCUZ npud =5 264.522 -
30197230 Pypuuyubul juqdh dknp phpnid PLUZ npud 1850 3,9 2
punuikup 378.422
Onpugph wijuunidp Snyph tjundwdp hpuyniuph
gpugnd
pudhti 01 funwdp 06 nuiu 01 dpwghp 52
Ownuynipjni
70330000 Qupuuwpihl npud 200.0
Swnuynipinily/ gnuyph
qpuiignud/




72160000 w bk nnipp/uyupuunhp npud 50.0
J&upukp/
punudkip 250.0
Opugph wijuinudp Ljhpuwnynipenit wy) swhnype
shtimuyinnn juquulkpynipniiutpht
Pwdhli 10 unidp 07 quiu 01 spwghp 55
Sumd shwinhuwgnn dwijuu npud 200.0
99000000 \ plnudip npu 200.0
Onpuqnh wijwinidp Sppwlju dhowduyph
wuonuuim pinil /Unpuhwin pynil/
Pwdhti 05 umup 01 quiu 01 dpwghp 51
Uypulip
09134200 TYhqkjuyht Junkihp PLUZ 1hwp 360 300.0 833
/udwunught/
Qumd shwiinhuwgnn wy
Swjuutp
99000000 wpluwnuwyupd npud 1230.0
punudkup 1530.0
Opwgph wijuimd Zudwjipuyhti dowlnyph b wquun
dudwigh juquulbpynud
Pwdhti 08 hunidp 02 nuiu 03 dpwghp 51
Uypuibip
39220000 Udwbopyu wkpukp PLUZ npud = 170.0 -
/Epkjuwbphty/
39221140 ukpukp/qninuphul PCUZ hwwn 265 530.0 2000
Ywlwig vhy. opju wnphy/
pwukp
punulkup 700.0
Owpuynipjnil
55241200 Zutiqunh Yuquuybpuynud PCUZ npud 500.0
punudkip 1200.0
Opwgph widuind Zwughuwn dowlnyp Ypnu
Pwdht 08 funidp 05 quiu 01 spwghp 51
Uyjpuwtip
Uwpuiph dknp phipnud
/nplnkqhtt b hwdwjuph =5 447.0 -
hpdtunpdwb opdut
udhpdws/
03321300 Nsfawp PLUZ hwwn 495000 297.0 6
15911100 Onh PLUZ Zunn 1200 48.0 40
15981100 Zwupuyhti gnip PLUZ Zwn 250 10.0 40
15981500 9ndugnighs puukihp PLUZ Zunn 250 10.0 40
15331178 Nuwhwbnjugyusd pubpupknki PCUZ huin 800 12.0 15
15540000 Nwihp PLUZ Uq 2000 10.0 5
15911300 Unbjuily PLUZ Zunn 2000 40.0 20
03200000 Qupunndhy PLUZ Yq 200 6.0 30
03210000 Zwug PCUZ Zunn 200 10.0 50
33141118 Uldtnnghly PCUZ Zunn 200 4.0 20
punudkup 150.0
39220000 Uwwnwithibp inpuujuuly £LUZ qpud 15000 217.500 14.5
qnyqkpht
Ownwjm pjnil




79220000 Zwiplyynn wyp Ejudnunbikphg -- npud 33000 33.0 1
Eljudwnuhin hwply
22100000 qpphp PLUZ npud - 2.5 -
pugudkup 700.0
55241200 Zwtquunh juquulkpymd -- -—- 60.0 -
Uypuiip
22400000 Snubkph dtnp phpnud PLUZ nppud 300 40.0 133
punudblp 100.0
QumJ shwunhuwgnn wyp
Swijuubp
995000000 woliwnwjwpd 4650.0
Uojuwwnuip
4530000 Uowynyph nwb dwubmyh Qz npud - 2900,0 =
unpngnid
Uyypwtip
39151100 Uknuukp PLUZ npud e 600,0 =
39151100 Upnnibkp PLUZ npud - 300,0 -
Cunuukup 9350,0
Unghwjuljul ywounuwinipjmb
Pwidht 10 unwip 07 nuu 01 spwghp 54
Qumu shwinhuwgnn wy
Swjuubp
75310000 wy] byywunlikp pymigkhg npuu 2000.0
75310000 hniquplunpoipjub byjwun npud 600.0
Cunudkip 2600.0
Opuigph wiwinudp Pwpdpugnyl jppopyni
Pwdhi 09 junwip 04 nuu 01 dpwghp 54
80300000 yppwlwh tyywunikp pynigkhg npud 200.0
punudkup 200.0
Opugph winjuimy Upwnwpht |pruwynpoipyu
guiigh hhutiinpngnud /thnn.nruunynpnipjniiy/
Pwidhl 06 unidp 04 quu 01 dpwghp 51
Ownwynipini
65310000 | E1. Eubpghuwih Jwipd £CUL lywn/d 45 800.0 17777
Uypuitip
44300000 |ntuunnt umppwiynpoidutph b i 505.4 =2
wihpwdbown ywpwquikph dkep
phipnid
44300000 Tunpnduy 75ud PLUZ dbkwnp 2700 210.6 78
44300000 unpnyuly 63ud PLUZ dbkwnp 1800 140.4 78
44300000 Tunpnyuly 40ud PLUZ Ubtnp 1250 50.0 40
44300000 Luyunkp PLUZ hunn 6000 240.0 40
44300000 EjEljupny PCUZ wnuh 5000 5.0 1
44300000 Lundy PLUZ huwn 2000 60.0 30
44300000 Quply PLUZ Ubkwnp 60 72.0 1200
44300000 Ubpy PCUZ huin 3000 6.0 2
44300000 ghukinn PLUZ wuply 3000 12.0 4
Eh_r}uu[hhn - 896.0 =
Ownuynipjnil
98391200 Puinpuljub /L EYunphlh/ 380,0
Swpuynipinil
puguukip 2481,4

Opwgph wjuinwd Spuijht junnygukph
owhwgnpénud b wwhujwiinud

N Ak 06 himtde 06 nuu 01 Snwahn 55




Ownwjnipjnih

65000000 spwlwnuljupupdub J&wp PLUZ fud 36 2500.0 69445
Sum shwbinhuwgnn dwhu
99000000 uwphiunudupd npud 1000.0
punudkip 3500.0
Opugph wijubnudp
Ywbwy wnwpwsplibph hhdumd b wuwhwwimy
Pwdhli 05 junulp 06 nuu 01 300,0
77211700 Ouwnkp RCUZ huin 15000 480,0 32
77211700 Juwpnpkp PLUZ hwwn 100 30,0 300
77211700 Brhnunibp PLUZ hwwn 1800 90,0 50
Cunuukup 900,0
Opwgph winjwiinulp Lwiunupngujuis
hwunwuinmpyub hhdiwinpngnd
FPwdht 09 lunwdp 06 nquu 01 PLUZ npud = 990,0 =
Ughuwtnuip
4530000 - -
Cunudkup PLUZ npud 990,0
Opwgph wijuinup Uudpwpn-plinniyu swsljh
JEpwinpngmd =
Pwdhu 04 lunwdp 05 nuu 01
Uy puitip
09134200 Thqbjughtt Juinkjhp /wdwnwhiy PLUZ 1hwp 330 400.0 1212
09121700 Puwlul quq ACUZ hud 165 12000 7272
phguukup 1600.0
Usluuwnwlip
45111180 Spniinugh Swbwwywphp PLUZ npud 770,0
Jupnignid
45231187 Uswljnyyph tnmb b Qz npud = 4544,0 .
huwdwjipwybinwpuh hwpwlhg
wnwpwdph /wbigyub thonngh/
wubuinpbnnik Swsynyph
unpngnud
45231187 Upwpunnjub thnnngh b PLUZ npud = 800.0 7
Bnbquujui-Ujquidut
hunfuyyipitipp juyng
Swhwwwphh wudwpnplinnik
Sdwshnyph thnuuyhli inpngmd
punudkup 7714.0
Uhgntijuyhte Pwdht 04 lunulp 03 nuu 02
Junkihp
Usliuwnwlip
44161110 Suquht unqujulwpwnptph PLUZ npud 950,0
unbnunpoud
Cunudkup 950.0
Usluwuwnulip
71241200 ‘Lwiwgsw-hknwgnunuljub Swukp PLUZ npud 25,0
Cunudkup ' 975.0
Opwgph wijuwinudp  wpswlub pjnigkh npud 2707,6
wwhmuunnuyghti $nliy
Pwdhl 11 junudp 01 nuu 02
punudkup npud 2707,6



ﬂ‘

npud 74,043
Opwgph winjmbnuip  $nlmuyhb pymgkh
wuhmuwwnuhl $niin
Pwdhl 11 junudp 01 quu 02
punudkup 74,043

CLUUTLL

69403,243




